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([oJ\} Use the side lengths to prove triangles are congruent.

Vocabulary

Postulate 19 Side-Side-Side (SSS) Congruence Postulate: If three
sides of one triangle are congruent to three sides of a second triangle,
then the two triangles are congruent.

Use the SSS Congruence Postulate

Prove that AJKL = AMLN. J M

Solution
The marks on the diagram show that
JK = ML, KL = LN, and JL = MN. -

So, by the SSS Congruence Postulate, AJKL = AMLN.
Exercises for Example 1

Decide whether the congruence statement is true. Explain your

reasoning.
1. AABD = ACDB 2. NXWY= AWZY
B
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3. ARST = AVUT 4. ANFGH = NAJHG
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5. APQR = ARTS 6. AJKL = AMPN
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Congruent triangles in a coordinate plane

Use the SSS Congruence Postulate to show YT
that AABC = ACDE. E(1, 3)
A(—4,2) R D(4, 1)
\ _—
\ ! x
\ C(-1,0)
. B(—3, —3)
L[|
Solution

Use the Distance Formula to show that corresponding sides are the same length.

4B =\(=3 = (=4) + (=3 — 27 CD =4~ (~1) + (1~ 0
=26 =26

So, AB = CD, and hence AB = CD.

BC=\(=1 = (=3)P + (0 — (=3)

DE=\(1 — 47 + (3 — 1)

= V22 +32 =\(=3)* + 2
= V13 = V13

So, BC = DE, and hence BC = DE.
CA=\(—4—(—1)*+ @2 - 07 EC=\(-1-12+(0-3)
=13 =V13

So, CA = EC, and hence CA = EC.
So, by the SSS Congruence Postulate, you know that A ABC = ACDE.

Exercise for Example 2

7. Prove that AABC = ADEF. y
F(0, 3)
N D({, 1)

B(—2,0) " >
E(2,0) | *

\

Al=4, ‘”’g*ao “3)
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